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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I&II • EXAMINATION – SUMMER • 2014 

Subject Code: 320008 Date: 27-06-2014        

Subject Name: Mechanical Drafting 

Time: 10:30 am - 01:30 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) A square prism has 25 mm side of the base and axis 50 mm long. Its axis 

makes an angle of 45° with HP. One of its edges of its base is in HP and 

makes an angle of 30° with the VP. Draw the projections of the prism. 

07 

 (b) A cylinder, base 40 mm diameter and 60 mm long has its axis parallel to and 

15 mm above HP and inclined at 30° to VP. Draw the projections of the 

cylinder. 

07 

    
Q.2 (a) Fig – 1 shows the pictorial drawing of a casting block. Using first angle 

projection method, draw following views: 

(1) Elevation (2) Sectional right hand side view at Section A-A (3) Plan. 

Show the dimensions by Unidirectional system. 

07 

 (b) A square prism, side 40 mm and axis 80 mm long, is resting on HP on its 

base. It is intersected by a horizontal prism, side 30 mm and axis 80 mm long, 

in such a way that the axes of both the prisms bisects each other at right angle. 

Sides of both the prisms are equally inclined to VP and axes of both the 

prisms are parallel to the VP. Draw the projections showing the line of 

intersection. 

07 

  OR  

 (b) An axis of a cylinder, 60 mm diameter, is vertical. It is penetrated by another 

cylinder, 40 mm diameter. The axis of the penetrating cylinder is parallel to 

VP and bisects the axis of the vertical cylinder. Both the axis makes an angle 

of 60° with each other. Draw the projections showing the line of intersection. 

07 

    
Q.3 (a) As shown in Fig – 2, a hexagonal prism base 25 mm and axis 65 mm long is 

cut by a sectional plane inclined at 60° to the HP and perpendicular to VP, and 

passes through the point on the axis, 30 mm above from the base. Draw its 

Front view, Sectional top view and the True shape of the section. 

07 

 (b) Draw the development of the lateral surface of the part – P of the hexagonal 

prism of 30 mm side as shown in the Fig – 3. 

07 

  OR  

Q.3 (a) A cylinder, 60 mm diameter and axis 80 mm long, is standing on its base on 

the HP. It is cut by a sectional plane which makes an angle of 45° with HP, 

perpendicular to VP and passing through a point on its axis 25 mm below the 

top surface. Draw Front view, Sectional top view and True shape of the 

section. 

07 

 (b) Draw the development of the surfaces of an object shown in Fig – 4. 

 

 

07 

    
Q.4  Fig – 5 shows an assembly drawing of Strap joint with Gib and Cotter. Draw 

its detailed drawing showing at least two views of each part. Show the 

dimensions in Unidirectional system and prepare the part list. 

14 
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  OR  

Q. 4  Fig – 6 shows the detailed component drawing of Tool Post. Taking the 

appropriate scale, draw an assembly drawing showing Elevation and Plan of 

the assembly. Use first angle projection method. 

14 

    
Q.5 (a) Write the AutoCAD programme to draw the sketch as shown in the Fig – 7. 07 

 (b) A fit is represented as 75H7g6. Draw the figure for fit and find following: 

(1) Hole tolerance (2) Shaft tolerance (3) type of fit. 

IS 919 state following limits for 75 mm diameter in microns : 

                      Upper Deviation             Lower Deviation 

H7                            22                                  0 

g6                           ˗ 45                              ˗ 25   

07 

  OR  

Q.5 (a) Sketch any five types of nuts and label them. 05 

 (b) Draw the standard symbols for the following: 

(1) Fire line (2) Vacuum line (3) Reducer valve (flanged)  

(4) Gate valve (screwed) (5) Flat single V butt weld. 

05 

 (c) With the help of suitable sketches, explain following commands in computer 

graphics with their uses and applications: 

(1) SCALE (2) ORTHO 

04 
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ગજુરાતી 
પ્રશ્ન. ૧ અ એક ચોયવ પ્રિઝભના ઩ામાની ફાજુનુું ભા઩ 25 mm અને તેની ઉંચાઈ 50 mm 

છે. તેની અક્ષ HP વાથે 45° નો ખણૂો ફનાલે છે. તેના ઩ામાની એક ધાય HP ભાું 
છે તથા તે ધાય VP વાથે 30° નો ખણૂો ફનાલે છે. તો પ્રિઝભનાું િક્ષે઩ો દોયો. 

૦૭ 

 બ એક ન઱ાકાયના ઩ામાનો વ્માવ 40 mm અને ધયીની રુંફાઈ 60 mm છે. આ 
ન઱ાકાયની ધયી HP ને વભાુંતય અને HP થી 15 mm ઉ઩ય છે, તથા VP વાથે 
30° નો ખણૂો ફનાલે છે. આ ન઱ાકાયનાું િક્ષે઩ો દોયો. 

૦૭ 

    
પ્રશ્ન. ૨ અ આકૃપ્રત – ૧ ભાું કાસ્ટિંગ બ્રૉક દળાાલેર છે. િથભ કોણણમ િકે્ષ઩ણની યીતથી 

નીચેના દેખાલો દોયો:                                                           
(૧) વાભેનો દેખાલ (૨) છેદાત્ભક જભણી ફાજુનો દેખાલ (વેક્વન A-A)  
(૩) ઉ઩યનો દેખાલ. યપુ્રનડામયેક્ળનર ઩દ્ધપ્રત દ્વાયા ફધા ભા઩ દળાાલો. 

૦૭ 

 બ 40 mm ફાજૂ અને 80 mm ઉંચાઈનો એક ચોયવ પ્રિઝભ HP ભાું તેના ઩ામા ઩ય 
ઉબો છે. તેને એક 30 mm ફાજૂ અને 80 mm ઉંચાઈનો આડો ચોયવ પ્રિઝભ એલી 
યીતે છેદે છે કે જેથી ફુંનેના અક્ષો એકફીજાને કાટખણેૂ દુબાગે છે. ફુંનેની ઉબી 
વ઩ાટીઓ VP વાથે વયખા ખણૂા ફનાલે છે, તથા ફુંનેના અક્ષ VP ને વભાુંતય 
છે. આ પ્રિઝભોના આંતયછેદની યેખાઓ દળાાલતા િકે્ષ઩ો દોયો. 

૦૭ 

  અથવા  

 બ 60 mm ઩ામાના વ્માવલા઱ા એક ન઱ાકાયની ધયી ઉબી છે. તેને 40 mm ઩ામાના 
વ્માવલા઱ો ફીજો ન઱ાકાય છેદે છે. છેદતા ન઱ાકાયની ધયી VP ને વભાુંતય છે, 
અને તે ઉબા ન઱ાકાયની ધયીને એલી યીતે દુબાગે છે કે જેથી ફુંને ધયીઓ લચ્ચે 
60° નો ખણૂો ફને છે. આંતયછેદનાું લણાકો દળાાલતા ન઱ાકાયોના િક્ષે઩ો દોયો. 

૦૭ 

    
પ્રશ્ન. ૩ અ આકૃપ્રત – ૨ ભાું 25 mm ફાજૂ અને 65 mm રાુંફી ધયીલા઱ા ઴ટ્કોણણમ પ્રિઝભને, 

HP વાથે 60° નો ખણૂો ફનાલતી અને VP ને રુંફ તેભજ પ્રિઝભના ફેઈઝથી  
30 mm ઉંચાઈએ ધયીના એક ણફિંદુભાુંથી ઩વાય થતી એક છેદક વ઩ાટી કા઩ે છે. 
તેનો વાભેનો દેખાલ, છેદાત્ભક ઉ઩યનો દેખાલ અને છેદનો વાચો દેખાલ દોયો. 

૦૭ 

 બ આકૃપ્રત – ૩ ભાું દળાાલેર ક઩ામેરા 30 mm વાઈડના ઴ટ્કોણણમ પ્રિઝભના  
઩ાટા – P ની વ઩ાટીનો પ્રલ્તાય દોયો. 

૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ 60 mm વ્માવ અને 80 mm ધયીલા઱ો એક ન઱ાકાય HP ભાું તેના઩ામા ઩ય ઉબો 
છે. ન઱ાકાયને HP વાથે 45° નો ખણૂો ફનાલતી, VP ને રુંફ અને ન઱ાકાયના 
ભથા઱ાથી 25 mm નીચે ધયી ઩યના ણફિંદુભાુંથી ઩વાય થતી એક છેદક વ઩ાટી 
કા઩ે છે. ન઱ાકાયનો વાભેનો દેખાલ, ઉ઩યનો છેદાત્ભક દેખાલ અને છેદનો વાચો 
આકાય દોયો. 

૦૭ 

 બ આકૃપ્રત – ૪ ભાું દળાાલેર લ્તનુી વ઩ાટીનો પ્રલ્તાય દોયો. ૦૭ 

    



4/6 

પ્રશ્ન. ૪ અ આકૃપ્રત – ૫ ભાું જીફ અને કોટય વાથેના ્રૅ઩ વાુંધાનુું વ ુંમોજજત ડ્રૉઈંગ દળાાલેર 
છે. દયેક છૂટા બાગોના ઓછાભાું ઓછા ફે દેખાલો દોયો. જરૂયી ભા઩ો 
યપુ્રનડામયેક્ળનર ઩દ્ધપ્રત લડે દળાાલો અને ઩ાટા ણર્ટ ફનાલો. 

૧૪ 

  અથવા  

પ્રશ્ન. ૪ અ આકૃપ્રત – ૬ ભાું ટરૂ ઩ો્ટના છૂટા બાગો દળાાલેર છે. જરૂયી ્કેર રઈ તેનો 
વુંમોજજત વાભેનો દેખાલ અને ઉ઩યનો દેખાલ દોયો. િથભ કોણણમ િકે્ષ઩ણ 
઩દ્ધપ્રતનો ઉ઩મોગ કયો. 

૧૪ 

    
પ્રશ્ન. ૫ અ આકૃપ્રત – ૭ ભાું ફતાલેર ્કેચ દોયલા ભાટેનો ઓટોકેડ િોગ્રાભ રખો. ૦૭ 

 બ એક પીટને 75H7g6 લડે દળાાલલાભાું આલેર છે. પીટની આકૃપ્રત દોયો અને ળોધો: 
(૧) શોર ટૉરયન્વ (૨) ળાફ્ટ ટૉરયન્વ (૩) પીટનો િકાય 

IS 919 ભાુંથી 75 mm વ્માવ ભાટે પ્રલચરન ભાઈક્રોનભાું નીચે મજુફ છે: 
                  ઉર્ધલા પ્રલચરન              અધઃ પ્રલચરન 

H7                     22                                      0 

G6                         ˗ 45                               ˗ 25 

૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ કોઈ ઩ણ ઩ાુંચ િકાયના નટની આકૃપ્રત દોયો અને તેના નાભ રખો. ૦૫ 

 બ નીચેના ભાટે ્ટાન્ડડા વુંજ્ઞાઓ દોયો: 
(૧) પામય રાઈન (૨) લેક્યભુ રાઈન (૩) યીડયવુય લાલ્લ (ફ્રેંજ્ડ)  
(૪) ગેટ લાલ્લ (્ૂડ) (૫) ફ્રેટ પ્રવિંગર V ફટ્ટ લેલ્ડ. 

૦૫ 

 ક મોગ્મ ્કેચ લડે કૉમ્પ્યટુય ગ્રાફપક્વભાું લ઩યાતા નીચેના આદેળો તેના ઉ઩મોગ 
અને ઉ઩મોગીતા વાથે વભજાલો: 
(૧) ્કેર (૨) ઓથો 

૦૪ 
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